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PART A: Vocabulary

Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes each

sentence. Then mark your answer sheet.

1- The living conditions of the tenants were certainly --------- when the landlord finally
installed washing machines and dryers in the basement.
1) displayed 2) distinguished 3) illuminated 4) enhanced

2- The first few moments after the explosion were pure —--—--: no one was sure what had
happened, and the area was filled with people running and yelling.
1) reluctance 2) chaos 3) malady 4) prevention

3- Of the seven ancient “Wonders of the World,” only the pyramids of Egypt are still
1) recollected 2) controversial 3) extant 4) innovated

4- The lawyer -———---—- the contract, searching for any detail that could pose a risk for her
client,
1) reinforced 2) blamed 3) rationalized 4) scrutinized

5- The news of the plane crash has not yet been —--—---- by independent sources.
1) verified 2) recognized 3) confronted 4) advocated

6. Mr. Peterson gave up the world of politics when he was still at the -—--=--- of power,
which really surprised everyone.

1) zenith 2) cross-section 3) nadir 4) velocity

7- The committee members were won over to the project by the --—-——- arguments of the
chairman.
1) wholehearted 2) respectable 3) cogent 4) stubborn

8- Although he committed the crime, because he was mentally ill he should not be
considered --------- for his actions,

1) imaginative 2) culpable 3) vindictive 4y illicit

Y- With difficulty, | could ——--——--- the shape of a whale off the starboard bow, but it was
too far away to determine its size or species.
1) resolve 2) interpret 3) magnify 4) discern

10- His strength and --—---— in the ring, and his ability to knock out the toughest of
fighters, won his fame and acceptance.
1) atfectation 2) coercion 3) dexterity 4) impression

PART B: Cloze Passage

Directions: Read the following passage and decide which chaice (1), (2), (3), or (4) best

fits each space. Then mark your answer sheet.

I'uel cells have been hailed as a savior of the environment. because they can turn hydrogen and
other fuels (11) --------- electricity cleanly and efficiently. But the technology has been
hindered by the high cost of the platinum catalysts (12) -=-------.

Hydrogen fuels cells, for example. work by pumping hydrogen gas past one electrode (the
anode), where (13) ----—--- into its constituent electrons and protons. The electrons then flow
through the anode. (14) --------- electrical power. while the protons ditfuse through the cell.
Electrons and protons both end up at a second electrode (the cathode), (15) —--—-- they
recombine with oxygen from the atmosphere to form water.

11- 1) for 2) and 3) into 4) with
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12- 1) they require 2) are required 3) they are required  4) as is required
13- 1) splitting it 2) its splitting 3) splitting 4) it is split
14- 1) providing 2) to provide 3) that provides 4) provide
15- 1) which 2) there 3) where 4) then

Reading Comprehension:

Directions: Read the following two passages and answer the questions by choosing the

best choice (1), (2), (3), or (4) and then mark the correct choice on your answer sheet.

PASSAGE I:

Earth is made of three layers. The core is at the center of the Earth. The mantle 1s a thick layer
of hot. solid rock. The crust is a rocky shell that forms Earth’s surtace. and is broken into slabs
of rock. called plates. that float on a layer in the mantle. According to the theory of continental
drift, all landmasses on Earth were once a supercontinent. The supercontinent broke down into
smaller continents that have drifted apart and, in some places, recombined. Many scientists
believe that plate tectonics. the movement of plates of Earth’s crust. created Earth’s largest
features. Plates are constantly moving and shaping the planet. As the plates move. they crash
into each other. pull apart. or grind and slide past each other. When the plates spread apart.
magma, or melted rock, pushes up from the mantle. Scientists estimate that plate tectonics has
shaped Earth’s surface for 2.5 to 4 billion vears. However, scientists have not yet determined
exactly what causes plate tectonics

16- Earth’s crust is broken into slabs of rock called —-——---,
1) faults 2) continents 3) landmasses 4) plates
17- The theory that the continents were once joined then drifted apart is called -------- i

1) continental drift ~ 2) plate tectonics ~ 3) movement of plates  4) geophysics
18- Which of the following words is a synonym for "grind"?

1) Melting 2) Breaking 3) Folding 4) Faulting
19-  According to the passage, scientists are uncertain about ——--weeeu-- .

1) Earth's layers thickness 2) magma movement

3) Causes of plate tectonics 4) age of the Earth's surface
20- What is the best title for the passage?

1) plate Tectonics 2) Geodynamics

3) physical Geography 4) Earth's Structure

PASSAGE 2:

Unmanned Aerial Vehicle (UAV): also known as Unmanned Aircraft System (UAS), is an
aircraft that is flown by a remote pilot or a navigator without a human crew on board the
aircraft.  Unmanned Aerial Vehicles. which is also a staple of the modern battlefield and
emerging technology in the world. could become a wvaluable tool in the geospatial
profession. Researchers and business people are finding more and more uses for civilian
UAVs as they are able to stay aloft for extended periods while acquiring data and
imagery. and are considerably cheaper to operate and maintain than manned aircraft.
Also called drones. UAV represents a sector of aviation that will undergo exponential growth
over the coming years. The potential commercial uses of unmanned systems are enormous, to
include remote sensing of the atmosphere, disaster response. agricultural survey of crops. soils.
and livestock; crop dusting, wildfire surveillance, wildlife surveys, power line and pipeline
survey: payload transport, search and rescue, and aerial photography for fields like real estate,
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construction, film and entertainment industry, and accident investigation. In a technical report
stated power companies are interested in UAVs for patrolling their power lines. and scanning
the lines with infrared cameras. UAVs would be more cost-effective and safer for utilities
than hiring a helicopter and could track and scan the power lines through dense or
inaccessible terrain using GPS based navigation. The report also said small-market
television news outlets, unable to afford the helicopters that big city stations can, are
considering UAVSs for gathering aerial images or videos at the scene of a story. It remains (o
be seen whether UAVs will replace manned photo aircraft or work alongside them. but
UAVs may significantly impact the information-gathering abilities of geospatial
professionals.

21- What is the main idea of the passage?
1) UAV provides very fast and low cost mapping comparing to traditional systems
2) UAV will replace airborne photogrammetry.
3) UAV can operate based on exponential function
4) UAV can predict the disasters
22-  Which sentence is incorrect?
1) UAV can be used for surveillance
2) UAV can carry fire gun into the battlefield
3) UAV can be used for modern military missions
4) UAV can be employed for battle damage assessment
23-  Which of the following words is NOT a synonym for “patrolling” in the passage?

1) Guarding 2) Imaging 3) Inspecting 4) Monitoring
24- The word “staple™ in the passage is closest in meaning to:

[) system 2) o0l 3) key 4) Equipment
25- Which of the following is NOT an application of UAYV systems?

1) Film making 2) Carrying packages

3 ) Groundwater mapping 4) Monitoring of agricultural fields

Please choose the answer that best completes the sentence,

26- The geoid undulations are due to gravity variation by the --—-———-— mass
distribution of the earth.
1) Inhomogeneous 2) moving 3) roughness 4) uniform

27- The process of aligning geographic data to a known coordinate system, which may
include shifting, scaling, and rotating operations called ---—---—---——-- .
1) Georeferencing  2) warping 3) superimposing  4) positioning

28- In surveying engineering, -—--— occurs when the number of observed
measurements is greater than the number of computed coordinates in a
measurement network.

1) excess 2) nearness 3) proximity 4) redundancy
29-  Irregularly spaced point clouds are very common format for initial observations of -
———————— e.g2., in image matching stereo images.
1) Texture 2) plan metric data 3) occlusions 4) Elevation
30- A “point cloud” is:
1) A set of bluish dots distributed over clouds.
2) A set of data points in three-dimensional coordinate system.
3) A skeletal three-dimensional model in which only lines and vertices are represented.
4) A digital data structure used in a Geographic Information System (GIS) for the
representation of a surface.
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